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ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

Define Principle of Virtual Work.

What is meant by Mohr’s correction?

What is meant by influence liﬁe diagram?
Define Muller Breslau's Principle.

Define Arch-action, List the types of arches.
Define Compatibility condition.

List out the procedure of application of slope deflection
equations for statically indeterminate structures.

What are the assumptions made in slope deflection
method?

Define distribution factor.

10. What is meant by carryover of moments?
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11. (a) Find the horizontal displacement at joint B of (16)
the frame ABCD as shown in fig.l using
principle of Virtual work. Assume EI to be
constant for all members..
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Or

(b) Find the rotations of joint B and C of the rigid (16)
frame shown in fig.2 using principle of Virtual
work. Assumé EI to be constant for all
members.
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(@) A Simply supported beam of span 40m is (16)
traversed from left to right by the load system
shown in figIII. Determine a)the maximum
B.M on the span_ b)equivalent uniform load
intensities for the maximum possible bending
moments in the span, maximum bending
momént at the left hand quarter point and the
maximum shear force at the point. The load
systém cannot be reversed.
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(b} Using Muller Breslau’s principle, construct the (16)
influence line for

() The moment at A

(i) The moment at B

(iii} Shear at B

(iv) The reaction at D

() The moment at F and ‘

(vi) The shear just to the left of D, for the
beam $hown in fig.4.
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(@) A three hinged parabolic arch of span 90m and (16)
rise 12m carries a uniformly distributed load of
2.5kN/m length on the right half of its span.
Determine the maximum bending moment in
the arch.

Or

(b) A two hinged parabolic arch of span 25m and (16)
rise bm carries a uniformly distributed load of
5t/m on the left half of span. The moment of
inertia 1 of the arch section at any point is
given by I = I, SecB where 8 = inclination of the
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is the moment of inertia at the crown. Find,

(i}  The reactions at the supports
(i) The position and

(i) The value of the maximum bending
moment in the argh.

14. (a) A continuous beam is loaded as shown in fig.5.
Using Slope deflection method, Draw bending
moment and shear force diagrams. Assume EJ
to be constant.
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Or

(b) Using Slope deflection method, compute
reactions and beam end moments for the rigid
frame shown in fig.6. Draw bending moment
and shear force diagram for the frame and also
sketch qualitative elastic curve.

16)

(16)
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15. (a) Using moment distribution method, Draw the (16)
bending moment diagram:for the continuous
beam ABCD loaded as shown“in fig.7. The
relative moment of inertia of each span of the
beam is also shown in the figure.
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fig.7
Or

(b) Using moment distribution method, analyse (16)
the rigid frame shown in fig.8. Assume EI to be
constant for all members. Also sketch elastic
curve.
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